Analysis H — Deggeller / Gleason / Hahn has no limits
Delta-Epsilon Limits Quiz Period:
NO CALCULATORS

1. Fill in the blanks: [3 pts]

lim f(x) = L if and only if for every , no matter how small, there exists a(n) such that if
X=rC

is within units of , then is within units of

2. Refer to the graph of f(x) below. Estimate all answers to the nearest tenth.
a limféx) = [1pt]
Nz

b. Given € = 0.5, use the graph to estimate the largest possible value of § that will satisfy the limit definition. Draw
on the graph to clearly indicate important lines and measurements that you considered. [4 pts]
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3. Given the function, f(x) = (x — 2)3 + 4, complete a delta epsilon proof to prove: lirg Jix) =5 [7pts]
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